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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

June, 2011 

MEC-002 : MACRO ECONOMIC ANALYSIS 

Time : 3 hours 
	

Maximum Marks : 100 

Note : Answer any two questions Prow section-A and five 

questions from section-B. 

SECTION - A 

Answer any two questions in about 500 words 

each 
	

2x20=40 

1. Derive IS and LIVI curves. What are the 

implications of these curves ? What are the factors 

that influence these curves ? 

2. Does steady state growth imply golden rule ? 

Discuss in view of the Solow model of growth. 

3. Policy makers should go by rules not by discretion. 

Justify in light of the new classical 

macroeconomics. 

4. In a flexible exchange rate system, fiscal policy is 

ineffective. Explain the above statement. 
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SECTION - B 

Answer any five questions in about 250 words 

each. 	 5x12=60 

5. Why do nominal and real rigidities occur in an 

economy ? What are its implications ? 

6. The downward sloping Phillips curve does not 

remain stable in the long run. Substantiate with 

appropriate diagram. 

7. Why do growth rates in economies converge ? 

Explain. 

8. What is meant by rational expectations ? In what 

respects is it different from adaptive 

expectations ? Briefly point out some of its 

implications. 

9. Bring out the major issues highlighted by Lucas 

in his criticism of Keynesian economics. 

10. Briefly describe the theoretical insights of real 

business cycles. 

11. Critically examine the efficiency wage model. 

12. Write short notes on : 

(a) Permanent income hypothesis 

(b) Endogenous growth 
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